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Pa
©o hPa 100
1 hPa 1 mbar
hPa
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1hPa=0.750 062(mmHQg),
1(mmHg),= 1.333 224hPa
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hPa  mmHg
hPa
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0.1hPa
0.1hPa
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hPa

inHg

hPa

760(mmHQ);,

9.806



20s

1000hPa + 0.3hPa
€) 800hPa + 0.5hPa
(b) 800hPa + 0.8hPa
100hPa + 0.3hpa
WMO 1990 2
QNH / QFE WMO
1981 1963
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WMO
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a
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a

b

c

d 9mm 7mm

e

f

0
g 20mm
+ 0.5hPa
323
3231
0

0 1.359 51x 10°kg m®

3232

On
0,=9.806 65ms”>
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a + 0.1hPa
b * 0.1hPa * 0.3hPa

c + 0.3hPa

+ 0.1hPa

I+

0.1hPa

3.25

3A

3.26
3.26.1

+ 0.1hPa
3.26.2
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3.2.65

327

1.5mm.

Boyle
1mm 1.8mm 0.8mm
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0.02hPa
1mm 0.02hPa
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0.5hPa
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c

d

e

f
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3.27.1
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0.02mm
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3.27.2
3273
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RS422  IEEEA488

CIMO
VIl 1994

331
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2.5kg
DC
CiIMO 11
5 28vVDC
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3.33

2mm

25m
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hPa

0.1hPa 0.01hPa
0.1hPa( 31034 )
335
3.35.1

3.35.2
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3354

34
341

34.2

34.3
3431

hPa

30K
*+ 0.3hPa

50hPa
0.3hPa
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3432

344
3441

34.4.2

+ 0.2hPa
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351

b 0.1 hPa
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0.1hPa
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o

352

353

354

3.55

3551

352

20K

1.5hPa
50hPa
1hPa
4
1hPa
1 hPa 100-A
X
AIX
3.34

+ 0.2 hPa
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1hPa

1hPa
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0.1 hPa

3552
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37
3
a
b
3
3.8
381
Liu Darkow 1989
2-3hPa

56



Miksad 1976 1963
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3.9
391

392

3.3.5.2
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3.10
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0.1hPa P
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WMO 1989 1991
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A B
b C B 2
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A
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0.05hPa
3.10.3.4
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0.25hPa

2
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1 111
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Ar A
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3.B
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B Br 3.10.3
Br Ar

3.10.5.3

3.104 A
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Bt
Bn
BCB

9n

3A

hPa
By
0] H ms
=9.80665ms >
Bn = BI (g¢,H /gn)
B, =B +B/(9,./9,)-1]
3A3 3A.2
Bn = Bt + Bca (g¢,H /gn)_]'J
g¢,H
IGSN 71
Geodetic Reference System 1980
3.A4

940 = 9.80620(1— 0.0026642 cos 2¢ + 0.0000058 cos’ 2¢)
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50hPa
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g = g, — 0.000003086H +0.000001118(H —H") 3A5

g ms? g, 3AA4
® ms® H
m H' 150km
H 10 km 3.A6
g = g,, —0.000003086H — 0.00000688(D — D) 3A6
D m D’ 150km
m
3.A5 3.A6 3.A5
3.A.6
3.A7
g = g,, — 0.000003086H + 0.000001118a(H — H') A
—0.00000688(1- a)(D - D’) o
(of
Bouguer
9 O O
IGSN-71 g X
Ag Ag
X 0 g 3A8
g=0,+4, 3A.8
AB g

10000km? 100km

67



Os = (g¢,o )S -C-H+ Ay 3A9
(g ¢,0)5 o
H g,
m g, ms?  Ag
ms? C 2.67
0.000001968ms >
g g, 3A.9
Ag
0
20
20

20
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0 C1=—B(a—ﬁ)~t

0 C =-Bl@-p)t—(a-37)t-4vV/3A
0
20 C.v =-Ba-p)t
~(@-37)(t-20)-(4v I3A)
20 C,=-Bla-t-p (t-20)
0 C.y =-Bla-t-p-(t-20)]
—(a—-35)-t-(4v I3A)
0.36hPa C.w =-Bl@a-p8)t-(a-37)t-(4V/3A)
20
20 C.y =-Bla-t-p-(t-20)]
—(ar —35)-(t-20)-(4v /3A)
0.36hPa C.v =-Bla-p)t
M- (o - 37)-(t-20)-(4v /3A)
C=
Civ=
B=
V=
A=
t=
o=
B =
n =
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